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QUESTION 1

What are two considerations when planning for an active data pool? 

A. Retention period for the data. 

B. Number of versions of data to keep. 

C. Usage of dedup for the active data pool. 

D. Usage for fast restore or disaster recovery. 

E. Usage of LAN-free techniques for the active data pool. 

Correct Answer: BD 

 

QUESTION 2

Which statement is true regarding the option PreferDAGPassive in an Exchange Clustered environment? 

A. It will only backup databases that are not active. 

B. It will only attempt a backup from the passive database. 

C. It will backup only the active database if the passive is unavailable. 

D. It prioritizes the backup of a passive database over an active database. 

Correct Answer: D 

 

QUESTION 3

Which device information is represented by the alias name mt5? 

A. A tape drive on LUN 5 

B. A tape drive on SCSI ID 5 

C. A tape library with 5 drives 

D. The fifth tape in an automated library 

Correct Answer: B 

 

QUESTION 4

What happens when the Tivoli Storage Manager (TSM) server runs out of archive log space? 

A. The TSM server halts. 
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B. Client backups and archives fail. 

C. The archive log overwrites the current archive log. 

D. Archive logs are created in the active log directory. 

Correct Answer: A 

 

QUESTION 5

An IBM Tivoli Storage Manager V7.1 storage pool has been defined as: 

DEFINE STGPOOL FILEPOOL FILEDEV POOLTYPE=PRIMARY Hl=90 LO=80 MIGDELAY=7 

MIGCONTINUE=YES NEXT=TAPEPOOL 

A QUERY STGPOOL command reports the FILEPOOL storage pool\\'s utilization is now 88%, and no 

migration process is running. 

What is the result of running this command: MIGRATE STGPOOL FILEPOOL? 

A. No migration is triggered because the pool\\'s utilization is below the high threshold. 

B. Migration will move data to the TAPEPOOL until the FILEPOOL\\'s utilization is below 80%. 

C. A syntax error is returned because the command did not specify a low migration threshold. 

D. Only objects having been in the pool more than seven days are migrated until the pool\\'s utilization falls below 80%
or there are no more objects to process. 

Correct Answer: B 

 

QUESTION 6

Which two steps are performed to create a migration path for client data to move from BACKUPPOOL to a new storage
pool named BACKUP2? 

A. Update BACKUP2 and specify DESTINATION=BACKUPPOOL 

B. Update BACKUPPOOL and specify NEXTSTGPOOL=BACKUP2. 

C. Update BACKUP2, a sequential access copy storage pool, to send the data to BACKUPPOOL. 

D. Define a BACKUP2, a random access copy storage pool, to receive the data from BACKUPPOOL. 

E. Define BACKUP2, a sequential access primary storage pool, to receive the data from BACKUPPOOL. 

Correct Answer: BD 

 

QUESTION 7
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Which three choices are determined by including the customer\\'s networking staff in an IBM Tivoli Storage Manager
(TSM) V7.1 pre-implementation planning meeting? 

A. Are nightly archives of specific files necessary? 

B. Is SSL required for client-server communications? 

C. Is the client option PRESCHEDULECMD necessary? 

D. Is TSM for SAN an appropriate choice for deployment? 

E. Is journal-based backup an appropriate choice for deployment? 

F. Which TSM components need to be configured for communication through a firewall? 

Correct Answer: BDF 

 

QUESTION 8

IBM Tivoli Storage Manager V7.1 is installed on a Linux server. What should be done before starting the wizard to set
up and configure the instance? 

A. Create the database and logs. 

B. Run the db2icrt command. 

C. Run the upgrade wizard dsmupgdx. 

D. Create the DB2 instance user ID account and home directory. 

Correct Answer: D 

 

QUESTION 9

What happens to an alert in the IBM Tivoli Storage Manager Operations Center if the message that triggered it does not
reoccur within the default time interval? 

A. The alert is closed. 

B. The alert is deleted. 

C. The alert is marked inactive. 

D. An error message is generated. 

Correct Answer: C 

 

QUESTION 10

A customer is keeping a daily IBM Tivoli Storage Manager (TSM) database backup for seven days and sending this
data offsite with copies of the backup data. How can any one of the TSM database backups be utilized with the copy
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pool volumes if a disaster occurs at the production location? 

A. Set the retain option on the copy pool to 7. 

B. Set the retain option on the primary pool to 7. 

C. Set the reusedelay option on the copy pool to 7. 

D. Set the reusedelay option on the primary pool to 7. 

Correct Answer: A 

 

QUESTION 11

The IBM Tivoli Storage Manager (TSM) Backup-Archive client has been installed on a Windows system having a
working network connection with hostname WIN2K8-SRV1 and IP address 172.18.35.47. The TSM server is running
and is located at IP address 172.18.35.100. No firewalls are in place and all other server and client communications
parameters are left to their default values. When opening the TSM Backup-Archive client command line the result is:
Which two steps are taken to avoid this error and successfully connect to the TSM server? 

A. Run the dsmc command again, but add the -TCPSERVERADDRESS=172.18.35.100 option. 

B. Use the Backup-Archive client GUI\\'s Preferences editor to update the server port value: and try connecting again. 

C. Update the node\\'s dsm.opt file to include the option TCPSERVERADDRESS 172.18.35.100, and try connecting
again. 

D. Update the node\\'s dsm.sys file to contain the option TCPSERVERADDRESS 172.18.35.100; and try connecting
again. 

E. Use the Backup-Archive client GUI\\'s Preferences editor to confirm the options file contains a valid node name, and
try connecting again. 

Correct Answer: B 

 

QUESTION 12

A customer has recently purchased six LTO Ultrium Generation 6 tape drives to add to their existing library that is
already populated with four LTO Ultrium Generation 5 tape drives. What would be the maximum setting for the
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MOUNTLIMIT parameter in the device class for the LTO5 tape drives? 

A. 4 

B. 6 

C. 8 

D. 10 

Correct Answer: B 

 

QUESTION 13

An IBM Tivoli Storage Manager (TSM) administrator has a request to restore a full virtual machine. She does not have
access to the TSM for Virtual Environments plug-in but does have access to the Backup-Archive client. Which criteria
must be met to instantly restore a VMware virtual machine? 

A. The remote recovery option should be enabled at the vSphere. 

B. The customer must be licensed to use TSM for Virtual Environments. 

C. VMware virtual machines must be hosted on VMware ESXi 5.1 servers or later. 

D. The Backup-Archive client option file should have VMRECOVER=YES option set. 

Correct Answer: C 

 

QUESTION 14

A customer is upgrading their environment from IBM Tivoli Storage Manager (TSM) V5.5 to TSM V7.1. Which three new
skills are required for the existing storage administrator with system privileges? 

A. defining DB2 volumes 

B. defining database space 

C. defining active data pools 

D. managing recovery log volumes 

E. managing a database reorganization 

F. managing multiple stream database backups 

Correct Answer: ADF 

 

QUESTION 15

What is the order to build a script to control server maintenance tasks? 
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A. back up stgpool stgpool migration stgpool reclamation identify duplicates expiration database backup 

B. database backup back up stgpool identify duplicates stgpool reclamation stgpool migration expiration 

C. back up stgpool identify duplicates database backup expiration stgpool reclamation stgpool migration stgpool
reclamation stgpool migration 

D. expiration database backup back up stgpool stgpool migration stgpool reclamation identify duplicates expiration 

Correct Answer: B 
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